Subject: Re: Maximum number of elements in a hash
Posted by dg86 on Mon, 13 May 2013 11:57:53 GMT

View Forum Message <> Reply to Message

The issue is not the number of elements in the hash, but rather the number of
arguments to the function. Here's an example that works because the function
only has two arguments. The resulting hash has 129 elements:

keys = strtrim(indgen(129)+1,2) ; create the strings from the example
vals = intarr(129) ; create the values from the example

h = hash(keys, vals)

All the best,

David

Subject: Re: Maximum number of elements in a hash
Posted by otto9335 on Mon, 13 May 2013 12:04:00 GMT

View Forum Message <> Reply to Message

Hello David,

thanks a lot for the explanation.

Regards

Tobias
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